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L. Which of the spiings has the 4. Two different masses are sispended
bigger spring constant? ¢ - N ' from springs with the same spring % ‘
2'13 : : constant, whichwill have the faster = =
2. How do vou know for certain? % period? @, yy\\—‘ % %
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3. Which will vibrate faster? g Lﬁj v £,
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A _B_ Has maximum velocity?

B. C  Maximum + foree?
Acceleration =07

D. _é]_ Maximum kinetic energy?
No potential elastic energy?
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A, ~= A compressed spring {the spring gets shorter)
B. _af-_ A stretched spring (the spring is longen)

Lo Pulling ona spring so it stretches,

D. _~— Pushing on a spring so that it compresses,

E. E Hanging amass o1t a spring.

InF=-kx isz' what’s pulling on the spring?

: X is4 negative maximumm?
G. (3 Zeroamplitude

. Positive or pegative displacement (x):

. 1f I puli-on a spring with 20 N, then the spring pulls back

with heow pch foree?
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3. A S kg object strerches a spring 20 em,

A Row much force Is pulling on the spring 2
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B. Find the spring constant.
V.
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300 ¢ mass stretehies a spring 50 em, find the spring
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6. What is the amplitude of spring A? 1()pwn 10. What is the period of spring D?
7. What is the amplitude of spring B? }L( cm ZX I G- g ' 25: ec

, ] 11. Find the mass on spritig D. -
& Aor B will have the fastest period? ﬁ — i Y" -
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9. AorCwill have the slowest period? X X WA / BYAIE
3.25 = % ToN/m
12. Which position or positions? 18. Find the period of a spring mass svstem thathasa 4 kg

mass and a 60 N/mspring constant.
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19, What is the ampiimde of the above graph?
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What is the period of the above graph?

Isec

. Hithas a 3 kg mass on it, what s its spring constant?
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